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20224 20214 i ’ =7 (%) =7 (%)
EE 26, 899 25, 695] 1 4.7 31.6 30.3
2 |7 A U A 6, 221 6,216 2 0.1 7.3 7.3
3 | AR — 3, 729 3,757| 3 A 0.7 4.4 4.4
4 |k 2, 850 2,979 4 A 4.3 3.3 3.5
5 |~ v — 7 2,729 2,826 5 A 3.4 3.2 3.3
6 |H 7N 2, 252 2,235| 6 0.7 2.6 2.6
7 F 5 A 2, 052 1,982 7 3.5 2.4 2.3

777 EEE

8 i 2. 030 1,918| 9 5.8 2.4 2.3
9 |1 N N 1,972 1,956 8 0.8 2.3 2.3
10 |2 < 4 v 1,716 1, 771] 11 A 3.1 2.0 2.1
11 |& HE 1, 657 1, 777( 10 A 6.7 1.9 2.1
IR/ A 1, 493 1,578| 12 A 5.4 1.8 1.9
13 |& % 1, 469 1, 545 13 A 1.9 1.7 1.8
14 | K 4 b4 1,373 1,471 14 A 6.6 1.6 1.7
5[4y F x> 7 1,238 1,291] 16 A 11 1.5 1.5
16 |k JL = 1, 237 1, 259 17 A 1.8 1.5 1.5
7 |~ v ¥ — 1, 230 1,310 15 A 6.0 1.4 1.5
8|7 7 v 1, 168 1, 180[ 18 A 1.0 1.4 1.4
94 % UV 7 1,158 1, 130[ 19 2.4 1.4 1.3
20 |[# A 1, 050 1, 044| 20 0.6 1.2 1.2
21 | Moo T o7 L 046 988| 22 5.9 1.2 1.2
2 (4 ¥ U = 974 1, 029| 21 A 5.4 1.1 1.2
23 |[F—=2 5 U7 933 925( 23 1.3 1.1 1.1
24 |7 4« UV ¥ » 925 867 24 6.6 1.1 1.0
25 [ v v o 884 846| 26 4.5 1.0 1.0
26 |3 A ~ 852 862| 25 A 1.2 1.0 1.0
27 |2 & v = 831 785| 27 5.8 1.0 0.9
28 |= ¥ 7k 777 723] 29 7.5 0.9 0.9
29 | 5 v 701 717] 30 A 2.2 0.8 0.8
30 |2 U T v oh 686 725| 28 A 5.4 0.8 0.9
= DA 1E 11, 095 11,475 A 3.3 13.0 13.5
ENI 85, 231 84, 864 0.4 100. 0 100. 0
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